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Topic:- General Knowledge and Logical Knowledge

1) In which year did the Constituent Assembly hold its first meeting ? / Tfeem= FHT A U=t

Ul do® $Hd raiford o At
1. 1945
2. 1949
3. 1947

4. 1946

Correct Answer :-

» 1946

2) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply

* => Division

/ => Addition

-=>Equal to
= =>Minus

/ =it w1 wrauTiyd® sregaq ®¢ ik Fafif@a ¥ Rig am @
ug;

+ => T

* => YW

/ => T

- => P WK

()



- ——mMuv

(5/7)+3*3+(10=4)
1.72
2.16
3.15

4. 30

Correct Answer :-

3) Konark temple is situated in the state of / ﬁvﬂ?& W%T fel'l:f oY el @IT‘I' %:
1. Andhra Pradesh / 3% UG=T

2. Odisha / ISIT

3. Kerala / %d

4. Madhya Pradesh / ] TG

Correct Answer :-

. Odisha/Gg_ I

4) When was the Gandhi-Irwin Pact signed? / mm—mm Wm&fﬁ—d BT UT?
1. 1931
2. 1929
3.1932

4. 1935

Correct Answer :-

» 1931

5) Which city in India has the oldest metro? / HRd B oM I eI d q9d gRTAT ﬁa 82
1. Kolkata / PHIABIl

2. Bengaluru / aTITjRK
3. Mumbai / 11‘@1‘5‘

©)



“t. LTI / 1R\ N1

Correct Answer :-

« Kolkata / BIIBTI

6) Which of the following is not a World Heritage Site according to UNESCO? / Tﬁﬁﬁ & IR Er]

A B a1 Yy R A e R
1. Chhatrapti Shivaji Terminus / EELIGARIEISIR R
2. Elephanta Caves / Qﬁlﬁ’?’[ !!CF)IQ'

3. Mysore Palace / ﬁgg Hed
4. Hill Forts, Rajasthan / %ﬁ q’ﬁ’(& RISTRIH

Correct Answer :-

» Mysore Palace / ﬁﬂg Hed

7) Which of the following does the concept of 'Secularism' in the Constitution of India envisage? /

frrwiferd 7 @ o= w1 WRdTa A A <mfFRUsEr SUa B IR e Bl o2
1. Hinduism as State religion / XIvd o & = ﬁ%@ e

2. Rejection of all religions / Taft emf oot &@?ﬁf

3. None of the above / W’gﬂﬂﬁ@aﬂ% :I_BDI
4. Equal status for all religions / gyt edf ot gHH %ﬁf&lﬁ

Correct Answer :-
» Equal status for all religions / gt &l Bt JHH %ﬁl’qﬁ

8) Which of the following is the world's first airport to fully operate on Solar power? / T’f FTUIA AR

Sl & HTferd g &1 YU §4TS g Fa H A S Aarge?

1. Devi Ahilyabai Holkar International Airport / ot eI 918 gladR &ﬁﬁgﬁtr LIS 3fgl
2. Cochin International Airport / DI m@’q EEITEC 3{gl

3. Amritsar International Airport. / STHdYX am?fiﬁtr GEIS] STgl

4. Raja Bhoj International Airport / TSIl HISl &Iﬂﬁgm EEIS] S1gl

Correct Answer :-

o Cochin International Airport / P &I?ngﬁ gars 3l
4)



9) WWEF launched “Project Tiger” in Madhya Pradesh in the year / WWF AR U H ‘qj@ﬁE
TR 39 4 H R L

1. 1979

2. 1969

3. 1973

4. 2000

Correct Answer :-

« 1973

10) “Jana-gana-mana” was composed by / '""SI-I-TTU-H" E:Iﬁ? BRI foraT am Ut
1. Rabindranath Tagore / XA OIPR

2. Bankim Chandra Chatterjee / S 9% geoi

3. Muhammad Igbal / HgHHq SPdId

4, Sarojini Naidu / SRIFSH TG

Correét Answéf - o

« Rabindranath Tagore / YA BTHR

11) In the absence of the President and Vice-President, who discharges the functions of the President? /

RTPUTY 3R STRTYUfe 3 SrgufRAfa &, pufy & wraf o1 frafe S s 32
1. Attorney General / Wﬁ

2. Comptroller and Auditor-General / BREGD aﬁ? HSI(-‘\NEII tlﬂ&ﬁﬁ

3. Chicf Justice of India / HRd & Y& <JRTHRT

4. Advocate General / II_EﬂﬁITﬁﬂT

Correct Answer :-

« Chief Justice of India / HRd & T RATENI

12) Dam that is built on Chambal which is on the border between Rajasthan and Madhya Pradesh is the

/ FiY SN G A TR ST A1 @ S AU d ISR S AT R 2

1. Gandhi Sagar Dam / et IR §iY

(5)
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3, Indira Gandhi Dam / 3T Tieht qie

4. Sanjay Sagar Dam / IO IR §1Y

Correct Answer :-

» Gandhi Sagar Dam / et IR diY

13) Chitrakoot is a popular name from the epic period of Ramayana. Chitrakoot is located in District /

Rerge IMAUT F1a A 1 Th AP AW g ds sa A A fRa @
1. Sidhi / GTefl
2. Panna / Gall
3. Rewa / dT

4, Satna / Id-Tl

Correct Answer :-

e Satna / Fd-Tl

14) Fundamental Rights are enshrined in the Constitution in : / Iﬁ'ﬁﬁ SR dfau™ * T HIT i |

1. Part IIT/ YT IIT
2. Part IV / YT IV
3. Part VI/ HIT VI

4, PartI/ YT I

Correct Answer :-

 Part IIT / HIT 11T

15) Khajuraho was the capital to the Rulers. / Wla TTP] BT e oAt
1. Chandela / dc@l

2. Kanha / ®Tgl
3. Mauryian / o

4, Satavahana / gddle-l

Correct Answer :-

(6)



®  Clauuclid /. H\e\ii

16) Mohammedan Anglo Oriental College, which later became Aligarh Muslim University was founded

by / HIgWE Tal Sfifvd<d Piaer, St 91¢ # 3reivTe giRaw fyfaeney s, 39% gr1 Rifa fFar
T o

1. Khan Abdul Ghaffar Khan / QT 3egcl THAR W
2. Maulana Abul Kalam Azad / HIGIIT STl hcdlH SMvllq
3. Rafi Ahmed Kidwai / W] 3G fbaas

4, Sir Syed Ahmad Khan / IR ﬁﬁ‘c: SgHa W+

Correct Answer :-

» Sir Syed Ahmad Khan / X ?ILIQ 3{gHG W

17) Asirgarh fort is located in / GI'\"-ﬂT"I'GT §Tf TI?}['@I?T %
1. Khandwa / dIUsdl
2. Khargone / PGRUIE]

3. Burhanpur / §REMYR
4. Betul / S

Correct Answer :-

» Burhanpur / §XeTYR

18) Sonagiri is famous for its__./ '\"ﬁﬂTﬁlﬁ SN% _%? ﬁﬂ' m %|
1. Buddhist Stupas / ey ﬁtﬁ

2. Hindu Temples / %gﬂﬁff

3. Mosques/ ARGl

4. Jain Temples / o TR

Correct Answer :-

 Jain Temples / oI HfeRl

19) If ABCDEF is coded ZYXWVU, then how is TOYATA coded? / gf¢ ABCDEF PIZYXWVU I

PIfSd fHaT SITdT 8, @ TOYATA B S8 Sifsd foaar sram?

(7)



1. LJLDLAJ

2. LGBGZL
3. GLBZGZ

4. GBLBGZ

Correct Answer :-

« GLBZGZ

20) Who founded the Viswa Bharti University in 1939? / 1939 s | ﬁ%{ YRl ﬁ%ﬁ'@l’l’ﬁ'ﬂ B RITYAT
e #1?

1. Rabindranath Tagore / ﬁ_ﬁ:ﬂﬂ Sl
2. Subhas Chandra Bose / JHTY T CIRS]

3. Jawaharlal Nehru / SidlgX dldd :IGQ“

4. Swami Vivekananda / Tt [adeTHe

Correct Answer :-

« Rabindranath Tagore / T BTHR

21) Who is the Lieutenant Governor of Delhi? / ﬁﬁﬂ'% Y IMUUTA Tﬁ:[%?
1. Tejendra Khanna /é@?w

2. Anil Baijal / 3IHd SoTcT

3. Sahib Singh Verma /wf%a%‘s'anf

4, NajeebJung/:l\_rﬂ_Q'Gi"T

Correct Answer :-

« Anil Baijal / 31 9oTd

22) Find the odd one out / T fauH FTd HIfoTT:
1. Wolf/ 9fgar

2. Panther / ?I—g;,r\’rﬂ

3. Lion /2R

4. Tiger / &l

(8)



Correct Answer :-

« Wolf/ ¥fsar

23) Find the odd one out: /wﬁw IiTd ﬁﬁrﬂ:
1. Heavy and Light / lﬂﬂﬁlﬂgﬁ%

2. Wish and Desire / 51 dYl SIS

3. Wealth and Money / ¢ TUT YT

4. Tree and Plant /‘315r qUT TveT

Correct Answer :-

e Heavy and Light / lﬂﬁﬁ?ﬂgﬁﬁ

24) The playing time of the shorter version of the national anthem is approximately seconds. / ITEITT
& Y TXBI0N BT ATGADTA ATHT IPHUS AT 3|

1. 20
2.25
3.32

4,52

Correct Answer :-

25) In a certain code language, You are good means Lu Le La; They are players means Le Ne Me; He is good
means La Si Su. Which is the word for Lu in that code language? / Th W@TH HIS HIIT 'ef, You are good P1
3 Lu Le La; They are players b1 31 Le Ne Me TUT He is good I 3 La si su aﬂT%l 5| IS HIITH Lu
P fore T 2ree &1 gxwTe fpar war 82

1. He
2. They
3. You

4. Good

Correct Answer :-

e You



26) In a certain code language, pik nik tik means work very hard, dum dam nik means make it hard, kik pik
sik means heavy work load. Which is the word for very in that code language? / T T HIS HTYT f[, pik
nik tik @T 31 work very hard; dum dam nik BT 31 & make it hard TUT kik pik sik BT 3 o heavy work load

BT 81 SH BIS HIUT H very P fo1T 5 2Ieg &1 3xaATa fpar mar 82
1. pik

2. nik

3. tik

4. dam

Correct Answer :-

o tik

27) If HALF is coded IAMG and TWICE is coded UXIDE, then how is OFTEN coded? /'CI'% HALFaﬁ IAMG '\ﬁ

TUT TWICE T UXIDE | FISd P ST §, @Y oFTEN BT Ha SIS fpar STR?
1. PGUFO
2. PGUEO
3. OGUFO

4. OGUEO

Correct Answer :-

28) If OBDURATE is coded BODURAET, then how is MENACING coded? / 'CI'% OBDURATE ® BODURAET |

Pifed far Srar 2, a9 MENACING BT $ Bifsd fpar s

1. GNICANEM
2. GNCINAEM
3. EMNACIGN

4. EMANICGN

Correct Answer :-

 EMNACIGN

29) A bag contains 6 black and 4 red balls. What is the probability of drawing first a black and then a red
ball in two successive attempts if the first drawn ball is replaced into the bag? / TP AR H 6 PTeN dUT 4

(10)



NHINT YIQ @1 QI NIVHINTIIN AMINTE F1T MONIT MZINT XYL M1 VIR IM/7X QM7 NTINT XY S0 1@ ITTM/N07T M0 M AT/

2, e Ted frorel 718 Wi ot aruw A A v faar S 82
1.0.24
2,027
3.0.50

4.0.12

Correct Answer :-

« 024

30) Which is the third number to the left of the number which is exactly in the middle of the following

sequence of numbers?/W%E’I{Gﬁ?ﬁmwaﬁqﬁﬁ'@ﬂ%ﬁﬁmﬁ%w*
Saraaaa g

123456789246897531987654321
1.3
2.5
3.4

4.6

Correct Answer :-

31) Complete the series choosing the missing letter/s: / &l &R/ 3MERT aﬁw UEER ] |
TRT HIIE:

A,E LM,
1.Q
2.P
3.7

4.0

Correct Answer :-

32) The series given below contains a sequence of numbers. Identify the incorrect combination: / ﬁa Tlé
et o, Sm3ff &7 U A U &1 ITerd Jaioi Uganfa:
(11)



1.20

2.26

3.5

4.40

Correct Answer :-

. 40

33) The series given below contains a sequence of numbers. Identify the incorrect combination: / T'ﬂ%ﬁﬂ' 11'5‘
SRadT §, TSATSHT BT TP HH IUIRYA & | TeTd ATl Ugd-g:

3, 24, 35, 46, 53, 57

1. 57

2.35

3.13

4.53

Correct Answer :-

34) Complete the series choosing the missing number: / T BT TAB YT I GRT PHOIC:
12, 36, 18, 54, 27,

1. 81

2. 64

3.33

4. 48

Correct Answer :-

e 81

35) Select the option that is true about the Statements and Conclusions given:

Statements:
Some trees are pens
All pens are erasers
(12)



Conclusions:
1. All erasers are pens
I1. Some erasers are trees

/ 39 fapey &1 99 Fifore Sife few e Hy=T ik fAeeyl & IR # I8l 8:
DY:

FoUsPaH G

Tl FaH TS §

e

I. 94} 98 paH @

IL $BES IS ©

1. neither conclusion I nor conelusion II follows / 7 81 F5BY 1 3R 7 &} fswef 11 S{TURTT A G
2. both conclusion T and IT follows / s 1 3R 11 g ST FRA &

3. only conclusion II follows / Had sy 11 S{TIRTT Hdl %

4. only conclusion T follows / Had sy 1 IR HT g

Correct Answer :-

» only conclusion II follows / Had ﬁwﬁ I 3T pdT %

36) Select the option that is true about the Statements and Conclusions given:

Statements:
Some poets are files
Some files are fleas

Conclusions:
1. Some poets are fleas
II1. No files are fleas /

39 fawen o1 7a-T BIFT S f3 g Fy=T ok fswyl & ar & wdt &
U

Ao

I. 79 ofd Iy &

II. 1% W Brs g 78 @

1. neither conclusion I nor conclusion II follows / T &1 Aspy 1 ek Bl rpy 11 SR A %
0w (i9) el



Z. DULLL CULICIUDIVULL 1 dallU 11 1UHUWD / 1717 L VIIN 11 IT11 VI‘J,\I\UI M/N\Q

3. only conclusion II follows / Had f5HY IT STERUI Rl §
4. only conclusion I follows / Fad f5HY I STHRUN T §

Correct Answer :-

e neither conclusion I nor conclusion II follows / = Eﬁ ﬁEb_BfI @T T é)[ ﬁ’lﬁv_ﬁf IT 38R0 B %

37) Select the option that is true about the Statements and Conclusions given:

Statements:
No flower is a fruit
No fruit is a plant

Conclusions:
I. No flower is a plant
II. Some plants are fruits

/ 39 qweq &1 Tu=T BIfoTg Sife T T FU=T iR fepwl & aR & I8t &:
Y

3 N pas va-TE &

1% Wt B T ey TE ¥

e

I ®13 f Ta ua den 7L §

II. $° NY ©a &

1. neither conclusion I nor conclusion II follows / 7 &1 FRY 1 3R =1 81 F5HY 11 SFI¥RUI va &
2. both conclusion I and I1 follows / TT5BH I 3R 11 GIFT SIT¥RUI HRd &

3. only conclusion II follows / $ad F5HY I 3FJHRU BT §

4. only conclusion I follows / HId FHY I TTRUI BT §

Correct Answer :-

« neither conclusion I nor conclusion II follows / 7 BT sy ek T Bl Aspd 11 SERUT A %

38) Select the option that is true about the Statements and Conclusions given:

Statements:
All thieves are statesmen
Some women are thieves

Conclusions:
(14)
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I1. Some thieves are women /

9 faweu o1 9a-1 Sifore wifer AT 1T wyAY ok fewaf & T & 98l 8:
DY

Tft TR Iemar @

PO ulgand IR §

ﬁ-w;&:

1. S off afear e 78 &

II. $o IR AfeaTd &

1. neither conclusion I nor conclusion IT follows / 7 &1 FRY I 3R =1 81 F5HH 11 SI¥RUI Hd &
2. both conclusion I and I follows / FT5HY 1 3R 11 GIFT SRR HRd &

3. only conclusion II follows / Fad fIsHY 1T SFTERVI HRl §

4. only conclusion I follows / Fad T5HY I THRUT HT §

Correct Answer :-

« only conclusion II follows / Fad FHY 11 STHRUT BT &

39) Complete the series choosing the missing number: / &l LT AB T G| ORI

PIfoTT:
3,4,10,33,136,685,
1. 4116
2. 4868
3. 2486

4. 3442

Correct Answer :-

e 4116

40) Complete the series choosing the missing number: / &l T I YT Ed] QT PTC:
30, 42, 56, 72, 90,
1. 130

2. 100

(15)
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4. 110

Correct Answer :-

e 110

Topic:- Mental Ability and Mental Aptitude

1)
Smriti is twice the age of her son Kiran. After 8 years she would be 1% times the
age of her son. Find ihe age of Kiran? / T i 3 YT G bt i I ¥ ST
81 8 Y a1g IEhHT AT A TF BN A B 1% BT At foer ot 1 AT i

1.16
2.24
3.20

4.32

Correct Answer :-

In the sequence shown below, which figure comes next? / @l T3 9 &H #, el
HTI Bl HI R

LS
2. S;
3.

U

Correct Answer :-
(16)



In the sequence shown below, which figure comes next? f =ir B ot &7 #H, 39T

——

'

r_r \1\%
i [

e S Z
\\< L &\)j k\:iil};/} &‘“{j
n

_'?\, - e 7 ‘- ‘-f.f:‘_' g -‘1‘?\ . {H 5 =y
AN {.,fr «\‘l:E / \\1 ! . ‘_.="f7‘:\il" 'p R

R SR

.- — ! -
\-,x y l‘.\. '.”_,." ‘v\.__'_"’ ) ."y
w
x,gﬁ_ e

|
s | e

34 W

4) The product of largest 4-digit and smallest 5-digit number is: / 4 3P| Pt Fad a@pf TET qUT 5 3BT
D TG DI TBAT BT UG 13 I

1. 99900000

(17)
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3. 99990000

4. 9999000

Correct Answer :-
e 99990000

5) A shoe company sold 50 pairs of shoes costing Rs. 189.50 each for Rs. 10,000. What is the profit? / T

%‘;ﬂnaiﬁﬁamﬁlsasomuﬁﬁﬁ@aﬁamaﬁsoﬁ@qﬁ 10,000 H S | YU BT AT FIT

1. Rs. 525/ 525 304
2. Rs. 425 / 425 30
3. Rs. 325 /325 S0

4. Rs. 625 / 625 30

Correct Answer :-
e Rs.525/525 300

6) Shyamlal was 5 times older than Ramlal 10 years ago. After 10 years, Shyamlal will be three times as
old as Ramlal. Find the present age of Ramlal./ 10 Y UgA RATHAT DI ST THCTA Cdl S P15 '{Fﬁ
Ft1 10 9 aTe, TATTETA B ST AT DI AR B A T FRI A ITATA Bt adH Y T

BT
1. 45
2.20
3.32

4. 30

Correct Answer :-

e 30

7) What is the time taken by two trains, each 120 m in length, running in the same direction, and
running at a speed of 45 kmph and 55 kmph, respectively, to pass each other? / 120 . aar.% aret 33[
YT, St fob g fawm & st 45 f, ufyy ger aur 55 bt ufd ger St aa A 9a & €,
TH-goR D! fobd-t 0T H UR & a2

1. 100.2 sec / 1002 T,

(18)



Lo DI.1 DCU /T OO0.1 NI,

3, 64.8 sec/64.8 .

4, 86.4 sec / 86.4 .

Correct Answer :-

.« 86.4sec/86.4 9.

8) What is the least number to be subtracted from 3283, which is exactly divisible by 23? / 3283 ddd8

oI W DI I B Y@ uers WY % uRomdt wwem 23 3 gof & @ fyuifora g smee
1.16
2.18
3. 14

4.17

Correct Answer :-

9) The least number that must be subtracted from 8143 so that the remainder is exactly divisible by 82

is: /8143 T A 98 P4 Wl BIEI A B W geTs AT P Juwa 82 | guf wu A fyurfore g wime:
1. 100
2. 50
3.75

4.25

Correct Answer :-

e 25

10) A dairy farmer's can contains 6 litres of milk. His wife adds some water to it such that milk and
water are in the ratio 4 : 1. How many litres of milk should the farmer add so that the milk and water are

in the ratio 5 : 1? / TP ST SMIGH DI b1 B 6 dle? g¥ &1 P! Uel A ITH ga+-11 U=t fira e
5 SUTd 4:1 B I | fHAT™T BT 3UTE 5:1 HA & g fope= diex gy fam=r ugwm?

1.1.8
2.1.5
3.1.0

(19)



Correct Answer :-

11) A person buys goods for Rs. 6,000. He gets a discount of 10 % and pays sales tax 6 %. Find the
amount he have to pay for the goods? / TP fFd A 6,000 FUA BT I TET| S 10% DI vcC forett
3R I 6% Il R T YIa™ foran| 39S gRT YIar fhT oM arelt Y= 31 Bifore|

1. Rs. 5,780 / 5,780 BUY
2. Rs. 5,760 / 5,760 ST
3. Rs. 5,700 / 5,700 ST

4. Rs. 5,740 / 5,740 304

Correct Answer :-

e Rs. 5,760 /5,760 30

12) A tank can be filled by 25 buckets each of capacity 15 litres. How many buckets of capacity 10 litres,

would fill the tank? / T <1 15 WIex YT aTail 25 Sifecdl § U THdI 81 I ¢P B YA & fag
10 Sftex TR arelt fora-it afeeal &1 sazawar g2

1. 40
2. 37 and a half/ 37 3% 3Teft
3. 35 and a half/ 35 30X 31

4. 30

Correct Answer :-

« 37 and a half/ 37 3T 3meht

13) If 13 men can paint a wall 39 m long and 6 m high in 24 days, how many men are required to paint
another wall, which is 15 m long and 12 m high, in 16 days? / TP 39 =i ?IE'I% 3R 6 . iﬁ?ﬂgaﬁ'ﬁ
R Bt 13?1:\11241%#1#1%&?%% ot 15 HY. FaTE ofiR 12 #1. <ieTE arell AR &1 12 A d de
3 & fog fbaq @M &1 siraxgesar gt

1.12
2.26
3.20

4.15
(20)



Correct Answer :-

14) 128.57 % of 84 +262.5 % of 48 +22.22 % of 27 = 2 / 84 T 128.57 % + 48 BT 262.5 % + 27 BT 22.22
%=1

1.230
2.210
3.220

4. 240

Correct Answer :-
e 240

15) A and B can do a piece of work in 30 days; B and C can do the same work in 24 days; and C and A
in 20 days. They all work together for 10 days, when B and C decide to quit. How many more days will A

take to complete the given task?/AGﬁTBWWﬁmﬁ:ﬁﬁWm%; B 3R ¢ I FTH B 24
RN AP IPA T, TUTC MR AT FH B 20 RAT A PR TPa 21 3 I9 FHadR 10 A PRI FA €,
3R P B 3R C FH BIS 3 21 df FAT T &1 1 AT B3 T A B foad fa i

1. 15 days / 15 &1
2. 12 days / 12 f&A
3. 20 days / 20 f&

4. 18 days /18 a1

Correct Answer :-
. 18days/18faT

16) If 11 oranges are bought at the rate of Rs. 10; and 10 of them are sold at a rate of Rs. 11, find the

profitpercentage./q% IIWIOW&ﬂﬂRWEﬂ%WGﬁ?Fﬁ'@ 10 TR 11 U8 B R IR 9
MY, A T Wi=Ta Fd Pifore |

1. 19%
2.21%
3.23%

4. 20%

Correct Answer :-
(21)
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17) The average age of 20 girls in a class of 20 students is 20. A new girl student of age 20 has joined the

class. What is the new average age of the class? / 20 oty & wam # 20 ﬁ@'ﬁ)‘fﬁﬁ ST BT ad
20 81 T 20 TY DI 13 ST BT H TS | T F&T P 3T BT 4T 3RTd AT S

1. 18 yrs/ 18 TN
2.20 yrs /20 Y
3.21yrs/21 39

4.22yrs /22 T4

Correct Answer :-
e 20yrs/20 Y

18) The average of 4 consecutive even numbers is 45. Find the 3rd of those numbers. / 4 TTdR JH

TSI BT 3T 45 §1 376 A TR w0 gra Fifvrgl
1.42
2. 46
3. 45

4. 44

Correct Answer :-

. 46

19) The area of a rectangular field is 144 m?. If its length is increased by 5 m, then its area will increase

by 40 m?. Find the length. / U TIATAR ASH HT AT 144 W2 B Tfe 3P dars A 5 /Y. Pt gfR
B & 9Y, A 39 QA% H 40 .2 P g 8 et | daE Fd P

1. 16 m/ 16 1.
2.144m/ 144 9.
3.12m/ 12 .

4,18 m/18 .

Correct Answer :-

e 18m/ 18 ¥



“vJ lib-a=4and Z2a+2Zb=12thena~+b~=7/4lgb-a=4 3k 2a+2b =12, <l a~ + b~ =7
1. 100
2.36
3.50

4. 26

Correct Answer :-
e 26

21) A farmer sold his 5-acre field for Rs. 13,00,000. Out of that amount, he had to pay Rs. 5,45,000 to his
landlord, and purchase a house worth Rs. 6,15,255. How much money is left with him? / T feam A

ST 5 THS Y 13,00,000 FUT § o7 & | $H UFRIRT H ST 5,45,000 FUA (U ABTHIOD B
faT 3iR 6,15,255 U ® T TR @G| 9P U $d fohal $Ud AV T2

1. Rs. 1,49,745 / 1,49,745 3UA
2. Rs. 1,35,745 / 1,35,745 3T
3. Rs. 1,37,745 / 1,37,745 S0

4. Rs. 1,39,745 / 1,39,745 300

Correct Answer :-
e Rs. 1,39,745/1,39,745 300

22) Two numbers are in the ratio 4 : 5. If 2 is subtracted from each of the two numbers, and their ratio
becomes 3 : 4; the numbers are: /am 4:5P Glﬂ'qﬁﬁ%I ﬂ%ﬁﬁmﬁﬁﬁmﬁ 2
HeT {3 oY, dt ST 3uTd 3:4 8 SiTar 8 | dY H=ne e 8

1. 20,25
2.12,15
3.9,15

4.8, 10

Correct Answer :-

23) Find the average. / 3Nad e
45,35,25,15,5& 1

(23)



1. 17

2.25
3.21

4.22

Correct Answer :-
o 21

24) Find the average of all prime numbers between 20 and 40. / 20 T 40 S HH B A IHTST

Tamel} &1 NTd JTd BIfeTU|
1. 40
2.33
3.45

4. 30

Correct Answer :-

25) 729 liters of a mixture contains milk and water in the ratio 7 : 2. How much water is required to get
a new mixture containing milk and water in the ratio 7 : 37 / 729 dtex fyor o 4] ARUI7:2%F
3rguTa # € | 741 fArgor yred w5 & fore 53w faraar urit frem uSw % g ergurd 7 : 3 g Wi

1. None of the above/mﬁ@ﬁg:ﬁﬁ
2. 81 litres / 81 Tex
3. 51 litres / 51 @ex

4. 91 litres / 91 TIeX

Correct Answer :-

o 81 litres / 81 TleX

26) Ten years ago, A was half of B in age. If the ratio of their present ages is 3 : 4, what will be the total
of their present ages? / G 99 UgA A B 3G B B g Bt 3eht <1 afe Sl 3t adar 3my &1 srqura
3:4 8, At I D) T 3T BT IR T G2

1. 30 years / 30 ¥
2. 35 years / 35 CL

(24)



Q. LU YTALd / LU MM

4. 18 years / 18 T4

Correct Answer :-

» 35years/35 af

27) A train of 125 m long is running with a speed of 45 kmph. In what time will it pass a man who is
running at a speed of 5 kmph in the opposite direction in which the train is running? / 125 . ?WTS: qrelt
TP YeTST 45 Tt ufy ver oY arer & 9« 361 71 g Yot faudia fe=m & 5 fooel. ufa v ot ama
9 IeH qTet T sHfea Bt foras 0T 3 UR 3 a2

1.9sec/9©.
2.8 sec/8 9.
3.10sec/ 10 9.

4. 12sec/ 12 ﬁ

Correct Answer :-

. 9sec/9®.

28) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ Fra e T aR vl 9 9 R il T ud & S 9HE 1 |1 TP 8 o2

Michael Watts
Rue du General de Gaulle — Z.1. 60880
Le Meux - B.P. 50317

60618 La Croix Saint Ouen Cedex, France

(i) Michael Watts
Rue du General de Gaulle — Z.1. 60880
Le Meux - B.P. 50317

60618 La Croix Saint Ouen Cedex, France

(i) Michael Watts

Rue du General de Gaulle — Z.1. 60880
(25)
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60618 La Croix Saint Ouen Cedex, France

(iii) Michael Watts
Rue du General de Gaulle — Z.I. 60880
Le Meux - B.P. 50317

60618 La Croix Saint Ouen Cedex, France

(iv) Michael Watts
Rue du General de Gaulle — Z.I. 60880
Le Meux - B.P. 50317

60618 La Croix Saint Ouen Cedex, France

4, 1il
Correct Answer :-

e i

29)
If the following two sguares shown below overlap, which one of the following options
is formed? [ I T+ & 997 Higeaad gid &, dF ™Fa & & ®id OT Ueh TaoheT a-dT &7
,
¥ —_—
|
[
e
T
1.

(26)



|
1
2.
| ok
.
N
Ly
L h
3.
L &4
|
* -
BN
\ I
4,

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: / 18 &Y T8 e &, 31&RY iR Tesil ®1 uH HH Afed € | Tod Ao uganAg:

i.zxer2309rezx
ii.zxer2309rezx
iii.zxer2309rezx

iv.sxer2309rezx

(27)



“T. 111
Correct Answer :-

° iv

Topic:- Science and Simple Arithmetic

1)

Which of the following is an INCORRECT statement related to the equation the given equation?

PbO +C___ . Pb + CO 7

| TrEATOT T & O & Sl areed Terd 67
PO + C —Ph + CO 7

1. Carbon is oxidized / BT& &ﬁ’a@%ﬁm%l

2. Itis redox reaction /U8 STIATY GI'fﬂ\-Iﬁ‘TCIT% |

3. Lead oxide is reduced /é‘s Gﬁla:\‘:I'IETS' W%ﬂ?ﬂ%]
4. Lead is oxidized / TS H\Iﬁ% W%I

Correct Answer :-

. Lead is oxidized / &S SffRfid g g

The side of an equilateral triangle of area 25+ 3cm? is: /

25v/3cm? & OTeT Uk WHGTg RS R S feA g

1 3 3em

2. 20cm
3. 10cm
4. 8cm

Correct Answer :-

e 10cm

(28)



In the given figure, AOB is a straight line. If £AODC +£BOD =
1038, then £COD = Jf Bu ew ®= &, AOB uw Sl
g1 °@ig LAOC+£BOD =105, @ £COD =

[+

1. 65

[+

2. 85

o

3.75
4.105

Correct Answer :-

o

o 75

4) For what value of “a’ is 4x* + 2x3 - 3x% + 8x + 5a exactly divisible by x +2?/‘a’ & fFa A= &
forg 4x* + 2x3 - 3x2 + 8x + Sa QI FTA x + 2 F sy ghme

1.4
2.-2
3.2

4. -4

Correct Answer :-

. -4

3) Find the volume of cube whose surface area is 150m2? / 3 ¥ T ST FTd B ForAHT gto

&% 150 97 H. B

1.1225m3 /1225 9T H1.
2.125m3 /125 9 .

3.25m3 /25 9T |,
(29)



4. 625m” / 625 Y- HI.

Correct Answer :-

e 125m3 /125974t

6) Three angles of a quadrilateral are equal. The fourth angle is of measure 150 . Find the

measure of each of the equal angles? / T IFY P T HI0T SRTER & | T HI0T BT ATT 150 § | ST
qTd YD PI0T T HIY J1d B

o

1. 80

[+

2. 85

o

3. 60

o

4.70

Correct Answer :-

e

« 70

7) Three traffic lights glow at the intervals of 10, 15, and 20 minutes. If they glow together at

6:10AM, now they will glow together at: /?ﬂqmm 10,15 3R 20 e & Giﬁ?lﬁﬂ?ﬁﬂ?ﬁ%l
gfe  UTd: 6:10 IS TP 1Y STeil €, O SHP 916 d TP 1Y = T80 IR ST

1. 7:10AM / UTd: 7:10 9
2. 6:30AM / UTd: 6:30 SIS0
3. 7:00AM / UTd: 7:00 Sof

4, 6:45AM / UTd: 6:45 T

Correct Answer :-

e 7:10AM /UTd: 7:10 S

8) If Rahul estimates his profit as 20% of the selling price, then his real profit percentage is: /
gfe g A fasha T &7 20% ATY ST SFHTH TR, 9 STHT IRAf® a1y &1 ufa=rd e

1.20%
2. 19%

3.21%
(30)
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Correct Answer :-

e 25%

9) Which of the following is not a perfect square? /ﬁﬂﬁﬁﬁﬂ%ﬁquﬁaﬁé?
1. 2025

2. 1152

3. 14641

4. 4761

Correct Answer :-

e 1152

10) Which one of the following is a fungal disease of poultry? / Ffadasaar PIPC YTl DT
TF HaP INT §?

1. Ranikhet / IERAd
2. Aspergillosis /Wﬂ-éﬂﬁ
3. Rinderpest /H'Qlﬂ%m'lﬁ

4. Fowl pox / WI3d Tleg

Correct Answer :-

» Aspergillosis /ﬁ?q'ﬁrfﬂﬂ—ﬁiﬁ

11) A number is such that it is as much greater than 84 as it is less than 108. The number is: /

TP GET 84 T I g1 g1 & et 76 108 A BicH | 98 T = &
1. 69
2. 48
3.56

4. 96

Correct Answer :-

e 96



12) The cost of a pen is Rs. (x + 4) and Rohit bought (x + 4) pens. The total amount paid by him
is: /TP T BT 3. (x + 4) & MR ART A (x + 4) T W | ITF GRT YA B S arell et AR
ﬁﬂ:f%:

1.8x2+x+16
2. X2 + 4x

3.x%+8x+16
4.1

Correct Answer :-
e X>+8x+16

13) The letter is chosen from the word PARALLELOGRAM. Probability of choosing a vowel is:
/ PARALLELOGRAM 3 T (& g1 TRT| U WX & g o Dt GYTEGT 1 3:

Ll

(R

14) What is the area of a square inscribed in a circle of radius ‘a’? / ‘a’ <01 90 U 90 & iR
& T BT QB fbaT 32

a*
1.
2. 2a2

(32)



3]

va | B

Correct Answer :-

. 2a2

15) A device which converts mechanical energy into electrical energy is: / ifA® el B ﬁ?{ﬂa ol |
wUiad e arell T fsaga e 8:

1. Electrical transformer / ﬁgqa @ﬂﬁlﬁ?
2. Electric conductor / ﬁ@ﬁ el

3. Electric motor / ﬁg&?{ e

4. Electric generator / ﬁgﬂ?{ SRER

Correct Answer :-

« Electric generator / {agad SIFReX

16) The amount of light entering the eye is controlled by: / TG A YA HA 9T UBT P AT BI
9% gRT fAafa fean s @:

1. Cornea / I

2. Eye lens / BELRS

3. Ciliary muscle / G&EHTIHDT =M
4, Iris / G‘I'lgﬁq

Correct Answer :-

o Iris / 3SR

17) A magnifying glass is a ./ P Jmaefd a-a g g
1. concave mitror / 3[ddd gqur

2. convex mirror / WE{&UT

3. convex lens / Iqd ag

4, concave lens / Hddd aﬂ

(33)



Correct Answer :-

s convex lens / Iad g

18) The animal tissue that helps in secretion and absorption is: / U] SHad Sl 19 3R Ny §
TG Bl &

1. Nerve tissue [ GBI Hd®
2. Muscular tissue / Ut Sds
3. Connective tissue / TSt SHdb

4, Epithelial tissue [ 3U® Il SHdd

Correct Answer :-

» Epithelial tissue [/ 3UDHdl SHddh

19) Microorganisms act upon the dead remains of organisms to produce ./

IAT I & g geasidt ga raRiul iR 1 @34 &
1. humus / 9ig

2. sand / ]
3. fungi / Pddh

4, water / SId

Correct Answer :-

e humus / 9lq

20) Pencillium is a member of: / yafaferm I, - ] 112} %
1. Pteridophyta /m

2. Fungi / ©dd

3. Bryophyta /W

4. Algae / AT

Correct Answer :-

e Fungi/hddh

21) Which of the following is NOT an abiotic? / = # 3 o9 geidy ar seiidt =r€r%?
(34)



L. Al / ng

2. Light / UPIRI
3. Water / oIc]

4, Tree / 9&

Correct Answer :-

o Tree/J&

22) Which one of the following organs is NOT a part of the female reproductive system in

humans? / 9 3R & ¥ S99 T1 v Agsat # wigen o+ oF @7 fear 781 82
1. Uterus / TTHTZR™T

2. Oviduct / 3fSdrfg-t

3. Ovary / 3SR

4. Sperm duct / [kl

Correct Answer :-

e Sperm duct / ¥ Falle-

23) If 22017 — 22016 _ 2015 4 2014 = i 22014, then the value of k is: / Ufg 22017 — 22016 _
22015 4 22014 = 22014, i k HT HF 4+ 5:

1.3
2.5
3.4

4.2

Correct Answer :-

24) Children sprinkle powder on the carom board while playing to: / T& Tdd IHYT &9 €18 W)
ISR gaf fos®d &

1. Reduce friction / 0T U & f?’fq
2. Tncrease friction / THUT Wlef & faw

3. Give fragrance / g7y ¢ & ferg

(35)
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Correct Answer :-

e Reduce friction / YU e & ﬁu

25) AB and CD are two equal chords of a circle with center at O such that <A0B = 80':, then

<£COD = . / AB 3fX CD, O &% aTdl U g @1 &t Tt 9|1 oitart 8 f5 <A0B = 80°, a@f £
CoD = .

1.100

s}

2. 80
3.110°

4.105

Correct Answer :-

[+

« 80

26) We should make water safe and free from germs and bacteria by: / B‘l?r o B 'ﬁTfE-I‘d 3R

AMY T S A e, & GRI M1 AT
1. Boiling / SSTTH

2. Decanting and filtering / fRRERUT 3R fAicT

3. Keeping it in a refrigerator / 3¥ URIId® o T@A

4. All the above / STad Tt Ufeha

Correct Answer :-

« Boiling / SST@

27) We get crunchy and granular feeling when we chew pear fruit because: / STd gH ATRIUTT g %:, a Eﬁ

TP AT THGR SFY[ et 7, Hifp

1. They are lignified and form bundles for mechanical function /aa')—l"?ﬁ'qa?f% 3R TifAd e & l(aQGiSQd

&1 T R B
2. Of the presence of stone cells or sclereids / &R SIS m%ﬁﬁm@ﬁaﬁw@ﬁwﬁaﬁr%l
3. Of the presence of collenchyma / TIPS IR 395 sialt %I

4, Sclerenchyma fibers are closely packed /WﬂﬂﬁW@?f%l
(36)




Correct Answer :-

» Of the presence of stone cells or sclereids / TR PHIRAHT3M m%ﬁﬁm@haﬁw@ﬁrﬂﬁ@?ﬁ%l

28) Which one of the following is NOT a terrestrial ecosystem? Aotk R kank:ll EHTRIT'ﬂ'q TR fRufast a1
T8

1. Desert / SR
2. Aquarium / STCTSTTaRITeT (TadaH)
3. Forest / dd

4, Grassland / U BT HeH (‘Jﬂﬂa@’)

Correct Answer :-

« Aquarium / STAISITARITCT (TEATRTH)

29) Name an organism which is called plant-animal as it contains chloroplast and flagella. / 3 SIg ST

IATSU Sl Wie-THHd Hedrdl & P SN gRadaas du1 HRMfHeT aid &1
1. Hydra / BIR Sl
2. Sycon/ﬂw\lﬁ

3. Euglena /?I’Fﬁ:ﬂ
4. Chlamydomonas / FAfSENT

Correct Answer :-

» Euglena /TFﬁ:IT

30) A sum of Rs. 8000 invested at compound interest doubles in five years. After twenty years it
becomes: / T gfa ol TR 371 Y 715 8000 F. HT Y=RIRT Ui af A SR[ g Wt 81 20 a9 1¢ g
RTIRT = B STt

1. Rs. 256000 / 256000 .

2. Rs. 64000 / 64000 3.

3. Rs. 120000 / 120000 2.

4. Rs. 128000 / 128000 .

Correct Answer :-

« Rs. 128000 /128000 2.






